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Hashtable tf&n , (g_gd < new Hashtable<String, String>();
System. out prrt ln( Size of t " + grades ())
System.out.println("Key Alan ex1sts. " + grades "ﬂ);
System.out.println("Value B+ exists: " + grade ) ;
gradesﬁ(w;
grades(p ( "B+");
grades.put ("Tom™ "C");
System.out.println("Size of table: " + grades.size());
System.out.println("Key Alan exists: " + grades.containsKey("Alan"));
System.out.println("Key Mark exists: " + grades.containsKey("Mark"));
System.out.println("Key Tom exists: " + grades.containsKey("Tom"));
System.out.println("Key Simon exists: " + grades.containsKey("Simon"));
System.out.println("Value A exists: " + grades.containsValue("A"));
System.out.println("Value B+ exists: " + grades.containsValue("B+"));
System.out.println("Value C exists: " + grades.containsValue("C"));
System.out.println("Value A+ exists: " + grades.containsValue("A+"));
System.out.println("Value of existing key Alan: " + grades.get("Alan"));
System.out.println("Value of existing key Mark: " + grades.get("Mark"));
System.out. prlntln("Value of existing key Tom: " + grades.get ("Tom"));
System.out. ue of non-existing key Simon: " + grades.get("Simon")) ;
rades.put ;
rz;szém.out. lue of existing key Mark: " + grades.get("Mark"));

ﬂsﬁ?ﬁs.re ove ;
System.out.println("Key Alan

System.out.println("Value

of

exists: " + grades.containsKey ("Alan"));
non-existing key Alan: " + grades.get("Alan"));
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1 |Person pl = new Person(' Heeyeon ) E—

2 |Person p2 = new Perso; oon' ) —
3 erson[] persons = 4




Correct answers are in bold green.
Wrong answers are in bold red.

1. [1 mark, id = 111] Consider the following fragment of code:

~3| Scanner inp Scanner (System.in); [?
int[] ns =<u—1,_2§§ ,
«oint _i_= inp ne; nt();
,\ if(nsfi) % 2 == 1 &8 0 <= i && i < ns.length) {

System.out.println("Outcome 1");

’Z Z‘.lsg (t N intl 1”0@ o n& )e,ﬂ"h -’[
! X = 2 |
Q<=1 =& AGT#2==) && L<ilr

When running the above program, which of the following value(s)

of variable i will result in an ArraylndexOutOfBoundsException?

Chose the best answer. 48 2g
A. [id=1]| -1
B. [id=2]| o
C. [id=3]
D. [id=4]| 2
E. [id = 5] None of the above answers is correct.

et

[id = 6] More than one of the above answers are correct.

2. [1 mark, id = 211] Consider the following fragment of code:
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Solutions of EECS1021 Quiz 3 for chiddy00
Correct answers are in bold green.

Wrong answers are in bold red.

O[] mark, id = 111] When executing

stay condition (i.e., i <49) of the looE b m

how many timeg)will the

(to ullnrlrm or false)? —
— L < (Ffzf

za code)

7
for(int(i = —4§; i< 49 i ++) {
System.out.println(*Outcome");

) —[{}\

A.

B. [id=2]98

C. [id=3]97 _
D. [id = 4] 100

E. [id=5] 101

F. [id=6]0

G. [ild=7]1

H. [id = 8] None of the above answers is correct.

2. 4 =21 l] When executing the following fragment of Java dode, how many times will the
body of loop ., the print statement) be executed? (Lq _I_
-

for(int i = -49: i < 49: i ++) {
System.out.println("Outcome");

H

T
— T
[id=(1] 99 /I-
——I‘
L

A. [id=1]99
B. [id=2]98
C. [id=3]97
D. [id=4] 100
E. [id=5] 101

F. [id=6]0

G. [ild=7]1

H. [id = 8] None of the above answers is correct.

3. [1 mark, id = 311] When executing the following fragment of Java code, how many times will the
stay condition (i.e., 1 <49) of the loop be evaluated to false?
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